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BLUE Ch.10 Practice 1

Evalua41te the expression. (1pt each) Answers
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Find the Greatest Common Factor. (2pts each)
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Simplify. Write the expression using only positive exponents. (2pts each)
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Simplify. Write the expression using only positive exponents.
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~ Write the number in scientific notatlon (1pt each)
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Write the number in standard form (2pts)
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Evaluate the expressnon erte you answer in scientific notation. (2pts)
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Evaluate the expressnon erte you answer in scientific notation. (2pts)
26) (2.8 x107°) — (1.6x10®)

Answer: 2 ol X 1O~ S
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28) (52x10%) + (1.3x10™®)
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29) It takes the Sun about 2.3 x 10° years to orbit the center of the Milky Way. It takes Pluto about
2.5 x 107 years to orbit the Sun. How many times does Pluto orbit the Sun while the Sun completes
one orbit around the Milky Way? Write your answer in scientific notation.
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